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Answers (Lesson 5-6)

| eIqebyy soous|n Zle IIH-MEIDOIN/200UB|D) ©

v _
S +Xg =4 .g_ g1 apouyom o
ydead ay) 03 qernotpuadiad st pue g jo jdedisjul-A € sey jey) aul] oY) Jo uorenbe ue purq ‘11

2 — Xg— = A ¢ = Ag — x ourf oy jo ydeis
2y} 07 xenotTpuadiad st pue g— Jo ydedrejul-A & sey Jey) aur| oY) jo uorpenbe ue purq ‘01
€

v—xp- =

9=4~4—-2xg9-9)"6

G+xg=4 NIxWHA

ol = 4% + %3 (€°‘T-) "8 T—%g— = 49— 6-)"L

meWIHA elk%" L+Xx=4A
€ - xm =£T-‘¢-)"9 9—xg— =4£g—‘9)°g 8 —¥— =£(L-"8-)F
L L _ _x% _ o
e TXT— =4 9-xg= oL +xz— =4
T+, =K% p+ o = CE- DT 1+t @

‘uoryenbs yoeo Jo ydeasd ayj 0} aemorpuadaad st pue jurod usard
9y} ySnoayy sassed jey) aulf 8y} Jo uoryenbs ue 10j urroy 1desasjur-odors ay) ILIpN

$361249X79

wuoy jdeoseul-ado|s i— xm\ -
Ausdoud annnquisig 9 — xmw =7 -
} 14
Aydung ¥ + RVMI =z -

z— K

Am,v\vug;xim\HE ((F-) — Rvml
wioy adojs-uiog Aﬂx — X = f_«
‘uoryenbe ayj puyy 03 urioy adoys-yurod o} as)

.m\ 10 hm Jo 1ecoadmaa aArjeSeu oY) ST aul[ 1y} 03 Jenorpuadied
ST 9] (g ‘v—) ySnoayy Surssed aurf a3 jo ado[s a3 ‘0g W stg — xm = A Jo adofs ay,
‘€~ Aq epis yoes eping e — xw =
‘9pIs Yoea Wouy Xg J0engns 6 + Xg— = \mml
uonenba [eubo 6 = Ag — xg

"6 = Ag — xg Jo ado[s ayy pur]
‘6 = Ag — xg Jo ydead o) 03 aemorpuadaad s1 pue (g ‘F—)
ysnouay) sessed jey) uorpenbo ue a10j urioy ydeoasjur-odols oy} LA E

“remnotpuadrad aIe SeUT] [BJUOZLIOY PUE [BITLI9A 1930 Yoed Jo s[eoordrar
aarjesou axe sodofs 1oy j1 remorpuadiad are soul] oM, S3UIT Jejndipuadiad

sauy Jejnaipuadiad pue [ajjeied :A1}dWwoaL

(ponuiuod) YOTIUIAIIIUJ pue aping Apnis [g9-¢ =

aoid3d Jlva JANVYN

9-G UOSSa

| Biqab|y aoous|D LLE IIIH-MBIDHON/800UB|D) ©
p— =A "9 =dougoy
Jo ydeus oy3 03 [o[ered st jeysy F— jo 3dedrsjul-A e sey jey) oull oyj jo uorjenbe ue puiq ‘gI
€
b=XP =49 (g xougom
Jo ydeas ayj 09 [or1eaed St jey) T— Jo 3dedrsjul-A & sey JBy) aul[ oyj Jo uorjenbs ue purq ‘I

2+ Xg— =A '8 = Ag + xp ourp o
Jo ydeas ayj 09 [o[reaed st jey) g jo 1dedrsjul-A € sey jey) aul[ ayj Jo uorjenbe ue puiq ‘0L

p—x%_ =4 €+xg— =4 zZ—xg— =4
G =4 +x9- 96 ST =4+%9'T-)'8 0T + ¥¢— = €% G—) 'L
9+xz— =4 z+x% =4 oL+ Xy =4
€+ 55— = £4G— )9 :xmlé.e.m G- =45V
n+xWH>. m+k%|ﬂ> v—x=4
[T 1]
; e e
X 0 J Y
o
X
i—\uxm\xi ° [¢]
C "o | X
] € A ]
[ [T K [[]-e 1 [T [ ) I

‘uoryenboe yoeos jo ydeisd ayjy 03 [oesed st pue jurod usaLd
a2y} ySnoayy sassed jey) aulf aYyj Jo uorpenbs ue 10j uLioy ydedaajur-adors ay) aLIp

83612.49X3

‘8 + xg = A st uoryenbe oY) ‘@I0JoIoY],

wioy 1deossjul-edols 8 + Xg = £
Auadoid annnquisig G+ X5=9— £
Ayduis T+%g=9-4
@) =(MWg=w (I-)-0g=9 -«
wioy adojs-uiog ﬁﬁa — X = -«

w0y adoys-purtod oY) ut (9 ‘1)
ym (16 Tx) pue g yyim w ooedoy 'z ‘odos owes ayj seY g + ¥g = £ 03 [o[[ered aur| y

81 + ¥g = £ Jo ydea3 ay) 01 [o[[esed st pue (9 ‘1—) ysSnoayy sessed
Jey) auIl] 9y} Jo uorenbo ue 10jJ uLioj jdodaojur-odo[s oY) LI E

‘[o[[exed aIe Soul[ [EdTLIDA

1TV odos ewres oy} oAy Aoy J1 [o[[exed are soul| [ed1IoAUOU OM], SBUIT [9]|eied
soui] LN?uQ.%wQQQ&QQ pue |9]|eled ..\A‘EQEQQQ
UOIUIAISIU] pue IpIing Apnis [9-g

S

aoldad 3lva JNVYN

A17 Glencoe Algebra 1

© Glencoe/McGraw-Hill



Answers (Lesson 5-6)

| eIqabyy soous|n

vie

‘sjeooudioas annebau ate yaiym

IIH-MEIDOIN/200US|D ©

Z
I

pue g— aie sadojs 119y} asneosaq Jejnaipuadiad aie OV pue gy sapis ‘Sap

‘urefdxy -o[Suerr) JySLI © ST HgY 9[SUBLI) I9YJOUM SUTULISIO(]

P! N (9 9)0 PUB (g ‘TF ‘(¥ ‘0)V s001I04 sey HFY d[SUeLL], AYLIINOID 93
g, ‘Il.\. - sjeooidioal aniebau ase yasiym .%I pue 2
HRNG | ale sadojs 419y} asneoaq Jejnoipuadiad ase Asy) isop
‘ure[dxy g 0} repnotpuadiad ST DY I9YIOYM SUTUWLISNI(
4 1Y "@g pue OV s[euoserp sey gV [e10e[upend) AYLINOID '¢3
S S 14 14 € €
, txg— =4 P Xe = P txz =4
6=40 —XG(g'e-)¥g 9— = 4g + *F (G- ‘9-) €3 L— = 4g + *¢ (1 1) "33
[4 S 14
S+Xxg—= mlxvl\ﬂ w+xn|>
01— = 4g — g “(g— 9) 'I3 8 = &% + %G (G ‘01) 08 9 = AL + %% (I ‘%) 61
e—xp=A4 9L +x9— =4 L+xg=4
9— = AT + %g ‘(L— ‘T—) "8I g =49 —x(¥ Q) LT GT = 4g + x (1 ‘0) 9T
NIRNH L —Xx—=4 v+xe=4

L
L=4~&+x%(e— 9-) a1

G=4—-xG‘9-)PI

6+ ¥~ = €@ ) el

‘uoryenbo yoeo Jo ydeasd ayj 0} remorpuadaad st pue jurod usard
a2} ySnoayy sassed jey) aur| oY) Jo uoryenbs ue jo urioy ydedaajur-adols ay) LIp

S S
L tXg— =
L =45 +xg (1 °‘g) 3T
T+ xE =4
T=4p — %63 ‘8—) "6
L+xg— =4
G=4+x31°¢)"9
14
€—Xg— =
T+ %- = £59- D)8

€ €
z IXvI =
T =48+ 29 °‘e—) 1T
L+xg=A4
G=4—-x¢@g-‘1-)'8
€ _
m—lxﬂl\q
¢+2E - g en e
€ —Xxp— =4

+ ¥— =£99C-)"8

L—xg—=4A
8 = £ + %6 ‘(y— T—) 0T
€ _
9+x7 =4
€ — %5 =4y ‘e—) L
S _
N+XMI>.
mlxmuadimv.v
L—Xx=4A

S+x=4~g‘e)"T

‘uoryenbe yoeos jo ydeis oy 03 [ofesed st pue jurod uaalsd
oY) ySnoayy sassed jey) aur| oY) jJo uoryenbs ue jo urroy ydedaajur-adols ay) LIp

sauj Jeinaipuadiad pue [a]jeled :A1}awoayn)
(sbeisny) d11IRIJ

aoid3d Jlva

JNVYN

9-G UOSSa

| eiqabyy eoous|n

¥
v —Xx - =A
9T = £ — *8 (&~ ‘¥—) Vg

L
g -x|=

g+ AL = £ 018
xg— =4

128 =00 8t
gc—xg=4A

9 =4g +x%9-‘1-) eI

€1e

m+qu>.

6— =A4g + %93 c-) €5
S

¢+xMu>.

Lo =g g
G —XxXp— =4
y -t —ag g

—+xmlu>.

v - g =€) 1

IIH-MBIDOIN/200UB|S) ©

L—XG=A
€ = AT + %2 (€ ‘3) 88

€__
b+ xy— =

g+ xf = €€ 96l

w+quA
T — - =449 %) 91
G—XxX—=4A

G +x=4~&-‘e-)er

‘uoryenbe yoes jo ydeas oy 03 semoipuadaad s1 pue juiod uaArd
oY} ySnoayy sassed jey) aur| ayj Jo uoryenbs ue jo wrroy ydedrajur-adors ay) LI

€ _
g — Xy =A
6 +x=4Ag(1-‘e) 3l
m+qu>
928 —t€v-)e
2+x=A4

Pox=£01T-)"9

=

€

v+x=4

¥ — g = 4g(1-‘G-) 11

9+x =4
e+r=~4Cv-)8
G—xg— =4
G +rg— =A@ T-)¢g

X— =4

WEET -z

14

g+ x - =A
L+t —aaor
L+ Xxp— =4

T-2—=4€-"T)L

lL—xg=A

v+ =40Ge) ¥

L+xg=4

L-xe uﬁ L(

X (o]

A ‘I

‘uoryenbe yoeos jo ydeis ay) 03 [oesed st pue jurod uoalsd
oY} ySnoayy sessed jey) aur| ayj Jo uoryenbs ue jo wrroy ydedrajur-adors ay) LI

saul Jejnaipuadiad pue [ajjeied :A1}dwoaL
2J1peld SIIDIS {9-S
X

aoldad 3lva

JNVYN

A18 Glencoe Algebra 1

© Glencoe/McGraw-Hill



Answers (Lesson 5-6)

| BIqab)y 00UBID) 91¢€

AT

X \\\M\

i/
g — wg 4+ xu = £
Aq paquidsep saulf jo [puad Y §

] —
T ~

~—

Iequinu [eol
Aue ST w areym (g — )l = § — £
Kq paquIdsap soulf jo (puad Y g

IIH-MEIDOIN/200UB|D ©

)L =4g —x
aury oYy 03 [o[ered sourf jo [oued y °g

1\

\/

F1a\

(€ ‘1) urod
o1} ySnouyyy seur jo [ouad y °T

‘[rouad yoeo ul seul| oayj Jo awos ydeay)

‘sour] [o[rered

Jo ouad e fouad, B paf[ed
os[e a1e ‘s)dedIe)ur JUAISIp INg
‘odo[s eures o) YIIM SOUI] [[Y

‘soul] Jo [rouad ® paj[es aIe
oue[d aures oy} ut jurod o[3uls B
ysnoxyy ssed jeysy soul| oy3 Jo [y

saul7 Jo sj1auad

JudwWIyO LUy

aoidad Jlva

JNVYN

9-G UOSSa

| BIGably 80ous|D Gl1e [IIH-MEBIDON/00US[D) &

‘sjesoudioal ajsoddo asn ‘pawnioy sajbue ybia A|2oIN :Jemsue ajdwes

‘syeooadoar 9g1soddo oxe jey) sedo[s oary

sourt] xe[notpusduad jey) Jequewad nok dioy 0} eseayd e Jo uryy 03 A1], odo[s awres
‘U0T)0RITp dwes, KBS 09 ST paje[al are soul] [a[[ered jo sodo[s MOY IoqUIOUIAI 0} Aem dU() °G

Jaquiaway noj buidjsH

£ oL _ st £q Z_g-
ST-P = 2 1 €-'q T [
IequInu [oee Jo [eooadoar 9jisoddo oy 9LIM F

~1laquinu Jeulbiio ayy jo ubis aysoddo ay 11 aAIb noA

uay] 10}eujWoUdp pue Jojelawnu aY} YoHMs NoA uaym paw.o} Jaquinu

3y} s Jaquinu uaAIb e jo |esoudioas ay] :1amsue ajdwes Iequnu € jo
[eooxdmaa 931soddo oY) pulj noA moy oqLIdsa(] ‘g6z 5ed uo xoq 3deduo)) 93] o) 0} 19JoY ¢

*saul| Jejnaipuadiad Aq paw.ioj ajbue ue si}| .06
sainseaw ey} auo si a|bue bl y :siamsue ajdwes ;o[sue 1ySu € ST jBYM ‘g

-adojs awes ay) aney Aayy Aes jouued am os pauyyepun aie jey) sadojs
9ABY SBUl| |BOI1IB/ (odo[s dwes 9y} YjLm SoUl[ Jnoqe SUr[e} UsyM JDI1A0U0U
WLId) Y] 9sn uorIuyep oY) seop AYM ‘767 o5ed uo xoq jdeouoy)) Loy ayj} 03 19Joy T

uossa ay) buipeay

|12ljeled ¢remorpuadiad
10 [o[Texed oae joasiejur 03 Jeadde J0U Op JBY) SOUI] UL} NOA O] e

ndaoisjul-A 10 adojs se yons ‘uowwod Ul 211s1I9)oBIBYD BUO
1ses| e aney jey) sydeib jo dnoib y ;sydeis jo A[rurey e STIeUM

'3]00q3x0} N0k ur zeg oded Jo doj ayj) 38 9-G U0SST 0} UOIINPOIIUL 8} PBIY
(IP[ered oae SoUI] 0M) JOYIOYM SUIULIDIOP NOK ued MOH A}IAIIY-did

sauj7 se[naipuadiad pue [ajjeied :A1jpuiosar)
sonewayley uread| o) buipedy [o-g

aoldad 3lva 3NVYN

A19 Glencoe Algebra 1

© Glencoe/McGraw-Hill



Answers (Lesson 5-7)

| BIqab)y 800us|D g1 |IH-MBIDO|N/200UB|5) & | BIqab|y 900UsD) 1€ [IIH-MBIDO\/200UB[D) ®@
DUy PO Y] 3din0s "S9sSealoul spunj Jo Jaquinu “sosealoul sqnjo jo Jaquinu
S661 DUl SIeaA oy} ‘sasealoul sieah Jo Jaquinu 8y} ‘sasealoul sieak Jo Jaquinu
L9 s v €27 L o 8y} Sk ‘uolje[a4409 aAIlSOd Y} Se ‘uolje[a4109 dAINISOd
0o IDUDUWIY [DUINOS 19325 [|DJ) Y] *3)IN0S DUDWJY [DUINOS 1334S [IDA 3] :24N0S
v g 1661 2dulS S1eax 0661 2ulS SIedA
2zl L9 s v ET L o 8 L 9s ¥ g7 L
| g P 0
/ 2 g g
A - £33 ‘23
\w m Y2 ELS 4 v 28 nag
ujjoaule -l 8L21$ € s mw E
SeEyLL + XGey'0 = A 8zals 2 o3 e
aIb (8z°z1 '2) pue abe AINOH sio}IoM s ! ‘ 5
(ev" 11 ‘0) swurod ayy uonPNpod *s- spung [emniAl Jo JaquInN | SqN[D JUsUSSAU] JO YAMOID | |
fenpold 'S Ev'LLS 0 4 €
"33 Jo aurg .
©)Rp oY) JI0J 11J JO 9UI] B MBI(] * “S9Skaldd aads ‘sasealoul
ot oj uonEIbD U Jo wricy e e o ac wmug e awn se .:W_um 21100 annebap vonelaies ou
1dedsejur-adofs a3 9LIM '€ “po1d 1093808 ® MRI(] °T HnoH SieaA 1} se .uonej ljebsN pUDWY Pli0) 34 33m0S
BT SOSIDIONI 03 9141 O 03 123U sz 0z va_:_Mv_w_ s 6 8 Wmmwﬂm_m ﬂm&m, [
0 x 0
: N.qm
FOFE + XL T— = £ ST 91 Jo ouI[ € Jo uorenbe ue ‘91019, q = $0%¢ Se vve w
q+ €661 - L'T— =91 oE ovE @
"9+ xLT— = LUl q puty s wx
LT—=w paads Buibbor abesany . 'S’ Ul SINOH 4o Apjaan abesany | |
€661 — 6661 _ (4 T
. 91 — L'G . *}1 9LIOSIP ‘UOTJB[ILIOD JAIYISOd € ST QIIY} J] *“UOIJE[ALIOD OU JO ‘UOIJE[ILIOD
DUDLY PHOM 211 :33am0S "ado[s 9y} puLy "(L'G ‘666T) PUB (9T ‘€66T) oA eSau € ‘uoryeoniod aanisod € smoys ydeias yoes I9Y)1oYyMm dUTWLIS(
oo y8nouyy sessed UMOYS }1J JO DUI[ DY,
000z 8661 9661 66l 2661 066L - *31J Jo aul| dY) 10y uoryenbo g
. M ue Jo wroy 3daoadjur-odofs oY) JLIN O pouses sieloq ,
™~ g 2 ‘UMOyS ST 31§ Jo dul| y ‘sjyutod 0zl 08 ot 0 ‘SOABS OUS SI0W O} ‘SWIBS USULIE))
. 23 9} Jo 9sour 03 daso[d sessed Jey) SUI] B MBI 7 S SI0UI Y, “U0IB[a.LI0d dA1Isod € smoys yders ayy,
™ A -
9l W *p01d 1917e9s Y} 0] 11 JO SUI] B MeI(] ‘q o W o g ‘uorpenyIs oy} ur Surueow
™~ ~d: ‘oA1yeSoU ST UOT}R[A.LIOD 3 7 sL g S1 9QIIDSIP ‘UOHE[9.1100 dA1pE3aU J0 danIsod
vz & 91} ‘SOSBAIOUI X SB SOSBAIIdP £ 90UIg S 7 0z m_ € SI 3197} J] "UOIIE[A.LI0D OU IO ‘UOIIB[.LI0D
sjooyds d1|qnd *s'N Ul X . ()] 8 aApesou e ‘uorjep.arod aanisod e smoys ydead
193ndwo) 1ad syuapms UM oL @%GN.W M_-mew QMMMNONMW@; - 3 | o€ Y} JIOYPOYM SUIULIIII(] *YOOM dWIES JeY) JUNodde
e : 1°P pue 30l iad a i ce s8uraes 19y ur pajisodap 9Ys junoure dY) pue YoM
v's 1’9 oL vl 8l 22 | 4eindwog Jad syuspnis sBuines pue sbuuaes s,usawied [OETS PIUIEd USULIE() £3UOUI JO JUNOWE 3y} SMOYS
000z | 8661 | 9661 | v66L | 2661 | 0B6L 1e0A St oy ge ydeas oyl SONINYVI  @emmre

‘0003 03 0661 W) SIedA [00YDS UTe)IdD JI0J S[ooyds arjqnd saje)s pajrup)

1 10pndwos 15d SHUSPIIS JO JPGUINT SY) SMOYS MO A[ET SYL pr "UOT)B[OLIOD OU ST 9I0Y) ‘POJL[AI 10U aIe £ pue ¥ JT "4 Pue X U0dm)oq UOIIR[ILIOD

9AT)E39U B ST 919] ‘SOSBAIOUL X SB S9SBaI00p A J] A pUR X Usom)eq UOTJR[aA10D dA1}Isod ©
ST 9191} ‘SOSBAIIUI X Sk soseatour A JT ‘oue[d 9jeurp.00o e ut sired patop.io se pajjo[d are ejep
Jo syes om yorym ut ydess e st joid 1011825 ¥ 10|d 1911€IS B UO S)ulod 1a4diaqu|

114 Jo seulq pue sjo|d 19)eIs
UOTIUIAIdIU] pue apIing Apmis (/-5

\
aoldad 3lva JNVYN

u4 o saur
114 Jo saul] pue sjo|d 19)3eds
(ponunuod) YOTIUIAIIIUJ pue aping Apnis (/- =

aoid3d Jlva JNVYN

Glencoe Algebra 1

A20

© Glencoe/McGraw-Hill



Answers (Lesson 5-7)

| BIqab)y 800us|D 0ze
abesany
S Or SE 0 ST 0C SL OL S ¢

IIH-MEIDOIN/200UB|D) ©

IR /9 1noqe s1eak gg Jo £31495u0] oSetoAe uE
- o )M [BWITUER UR I0J £}1A9SUO] WNWIXLUI 91} 191PdIJ *0T
0z
oe § G'J1 + XG'| = A :1amsue ajdwes 1y jo auy
or w o[} 10J uorjenbe ue jo uroy ydedrejur-adors ay) SILIN ‘6
: 08 m . 3 3 3 .
. 0 (0L ‘s€) “(ov ‘S1) @sn :1emsue sjdwes
o “j01d 193989S 91} I0J 91J JO SUI[ € MRI(] '8
A 08

"S3SEaJoul WnWIXew ay} ‘sasealoul

abeiaAne ay) Se ‘Uole|alI09 dAINSOd

‘BJRp Y} UI $IsTX0 ‘Kue J1 ‘drysuoryefax
Jeym 9UIULI9}OP pue HOMQ J933898 B MBI(] °L

(saeap) A3nabuoT jewiuy

PHOM 341 JO SIDUILIDYY S, JYD :DN0S

¥S |19 |LL|0L|0C |0 [0S | Ly |"XelN
0Z |y |0 |SE| 8 |Gk |Ge |2k |'Bay
(saeak) Aynabuo

‘K£31a13ded Ul S[ewWIue SNOLIBA
Jo £31A98U0] WINWIXEW PUE dFBIdAE 3] SMOYS
yey} S[qe) oY} SN ‘-1 SOSIOIIXY 104 SOOZ

FEON /02 In0oQe $00g Ul Sosed Jo Iaquinu o) o1pdid ‘9
L00Z 666 £66L S66l . ) .

° 6.1°9E1 + X89— = A :1omsue djdwes 1y jo aux

002 o[} 10J uorjenbe ue jo urioy ydedrejur-adors oY) VILIMN G
00

N~ e § (€89 °2661) (152 ‘9661) @SN omsue sjdwes

N~ | oos jo1d 1993€dS 9Y) 10 J1J JO UI[ B MBI “F
»

0001 *‘S9SEa109p SISk JO Jaquinu a8y} ‘sesealoul

Jeak ay} se ‘uone[a1109 annebaN
"BJRp 9} UI 381X Kue JI ‘drysuoryerar

JEYM OUILIOPP Pue jo[d 103380S € MBI(] *¢

sase) sdwnp "s'n

UONUSA3I4 puUe |04U0)) 3SeasI( 10§ SISIU)) 132IN0S
/8¢ | 999 | €89 | LG | 906 | sase)
6661 (8661 |L661 |966} [S661| JBIA

sase) sdwnp 's'n

"666T 01 G661 STBIA 9} J0J SYBIG PIYIU()
oY) ur sduwnur Jo S9sed JO JIQUINU Y} SMOYS

yeY} o[qe) 9Y} 9sn ‘9g-g sasToIexy 104 ISVISIA

-saseasoul Julod 1saybiy ay) ‘sesealoul
UOIBAd|d UBdW 3y} Sk ‘9A1lISOd

faning 22180030 §'1) :324n0s

uone[a.109 ou

UONeASIUIWPY dLAYdSOUY PUR DIURIIQ) [RUONEN 13240

(3934) uoneAs|3 uespy
000€ 000Z 000L

(saypul) |jejuley [enuuy abeiany
Sy Oy SE€ 0€ ST 0T Sl o_.«MO

[4

o

o
<

%l
~
=)
8

J r

o
o

(3934 jo spuesnoyy)

jutod 3sayBIH
©o
in
(4o) 2amesadwa)
abesany

©
<
©

suoljend|j ajels llejurey snsiaA ainjeiadway

g I
‘uoryen)Is oY) ul SUTUBIU SII SQLIOSIP
‘UOTIR[aLI0D DATIESIU 10 9ATIISOd € ST DI} J] *“UO01PD]ILIOD OU IO ‘UOIID]ILIOD
2ayvSau e ‘u01n]a.1100 2a1150d € smoys Ydeas yoesd I9Y)oYM dUTULIIII

14 Jo saul] pue sjo|d 19)3eas salsliels

aoid3d Jlva JANVYN

/-G UOSsa

IIH-MBIDDIN/200UB|S) ©

0v’'8L$ noqe
F00 Ut 331 & Jo e01d oY} 301paId L

8'y8GL — xg0 =4

| BIqab)y 800uUsID) 6LE

0821 ‘Hoday Bunaye}y wes| :334nos

Je3n jo1d 1937€0S 9Y) Ul UMOYS }1J JO SUI[ oY} JI0J
00. 66, 86, £6. 96, 56. V6, €6, 6. 16, uoryenbe ue jo uioj ydesrejur-adofs oY} 9JLIM 03
8z (09°ET ‘866T) PUB (09'6 ‘€66T) syurod a1y s °9
o
> - @ oL g 10Ul 391ud ay) ‘sasealoul Jeak ayj
2 3| se {uone[a1i09 anIlISOd ure[dxj “eyep oy}
= o = w3 ur s3s1x0 ‘Kue J1 ‘dIYSUOI)B[ed 1B M SUIULISIS(] °G
4 EINC)
8l ‘0003 03 1661 WOoaJ 19301} [[eqaseq angea[-I1olfeur

® Jo 9o11d o8eaoAe oY) smoys ey joid
19)70S 91} 9Sn ‘-G SOSTOIIXY X0 11vVgISve
"sosealoap siadedsmau "sosealosp

Bujuana Jo Jaquinu ay} suonnadai jo Jaquinu ay}
‘sasealoul Jeah ay} se ‘annebaN ‘sasealoul yblam se ‘annebaN

13YS)qnd B 10}ip7 :324N0S

$3314d 391 ||egaseq

PLETN (spunod) 3ybIapn
66, 86, L6, 96, 56, 76, €6, 6, 16, 0 0¥710Z100L 08 09 OF 0T o

0SL
008
0S8
006
056
0001
L]
0soL L
7 Bunyr-ybram e
‘pauanqg saloje) alow ay}
‘as1049xa 3y} Jabuo| ay} ‘eAnisod

uonnaday

=
sl

siadedsma jo Jaquiny
L]
L]

siadedsmap Buiuang

uolje|aliod ou

pamouiog sxoog (senuw) awiy
008 8 L 9 S ¥ EC L o 09 05 Ov 0 0Z 0L o
L]
L %
. - 0oL
4 Y - -. ® o0z o
38 o o0 00g &
= . L] -3
v e Sl ooy &
o Ll
s & L 005
’ 9 009
1A aspaaxg bung
saulg Areaqry pauang sauojed
-z I

‘uoryen)Is oY) ul SUTUBSIUL SII SQLIOSIP
‘uor)e[a.1100 aA1PeSoU 10 9ANYISOd B ST 0I0Y) J] ‘U01ID]I.LIOD OU IO “UO01ID]I.LIOD
2ayvSau e ‘uo1yn]a.1.100 aa1rsod e smoys ydeis yoes I91oyMm dUTWLIdQ

114 Jo saul pue sjojd I8)edS :SINSNelS
NIPeId SIS §£-S

\
aoldad 3lva JNVYN

Glencoe Algebra 1

A21

© Glencoe/McGraw-Hill



Answers (Lesson 5-7)
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